INSTALLATION MANUAL

TUBE DOORS- 4 DOOR
PRODUCT NUMBER: TT1030

APPLICATION: 2016-19 TOYOTA TACOMA /Eb/\

MADEGC IN THGC USA

www.4x40k.com




www.4x4o0k.com




SIN31INOJ 10 318VvL



A MESSAGE FROM THE OWNER

Fab Fours’ was born out of a passion for customizing vehicles and a love of the outdoors. Our
engineering team uses the latest 3D design software to turn new product ideas into reality. In our
factory, designs come to life with the combination of cutting edge technology for metal cutting
and forming and an American workforce that puts its’ heart and pride into every product.

From design and manufacturing, to quality and delivery, Fab Fours’ mission is to be the market
leader for steel truck and jeep accessories. We make sure a quality product is delivered on time,
more than expected, better than expected to our customers.

Enjoy your new Fab Fours product. Welcome to the family!

Greg Higgs

FOUNDER, FAB FOURS

www.4x40k.com




GETTING STARTED

Before you begin the installation process of your new Fab Fours product, we suggest
laying out all materials and parts on a pad or protective surface.

Failure to fully account for all components before beginning installation may leave vehicle
immobile until part is acquired. Refer to the next pages as an inventory check.

0

www.4x4o0k.com




PROVIDED MATERIALS

TOOLS REQUIRED
I M HW ¢ Body pry tool

KIT e 10mm Socket wrench
* 12mm Socket wrench
¢ 3/8” Socket wrench

TT1030-IM 50231-HW * 1/2” Socket wrench
* 9/16” Socket wrench

' ’ I ¢ 1/8” Allen wrench

22210-W 22211-W

I 22213-W I 22212-W

ASSISTANCE

We recommend two people
perform the installation as items
are heavy and may need to be held
in place while installing.

22216 22217
ORGANIZATION
Disassemble the vehicle where you
can catalog and store everything.
22222 22223 22224 x4 We suggest labeling and bagging all

the OEM bolts when removing from
the vehicle. Failure to keep track of
parts could lead to an inability to
properly reinstall components.

www.4x40k.com




PROVIDED MATERIALS

HARDWARE KIT | 5023 1-HW

FAB FOURS COMPONENT

IDENTIFICATION DESCRIPTION

50231-HW 5/16"-18, Yellow Zinc Hex Head Bolt,
Grade 8

50231-HW 5/16” 1 1/2” OD Flat Fender Washer

50231-HW | 5/16" Yellow Zinc Lock Washer, Grade 8

50231-HW 3/8"-16, Yellow Zinc Hex Head Bolt,
Grade 8

50231-HW 3/8"-16, Yellow Zinc Hex Nut, Grade 8

50231-HW 3/8”, Yellow Zinc Flat Washer, Grade 8

50231-HW 3/8", Yellow Zinc Lock Washer, Grade 8

50231-HW 10-24 x 3/4”, Stainless Steel Button Head

Bolt
50231-HW 10-24 x 3/4”, Stainless Steel Nut

FAB FOURS

IDENTIFICATION

COMPONENT
DESCRIPTION

50231-HW #10 Stainless Steel Flat Washer
50231-HW #10 Stainless Steel Lock Washer
50231-HW 5/167-18, Stainless Steel Hex Nut
50231-HW 5/16”, Stainless Steel Flat Washer
50231-HW 5/16”, Stainless Steel Lock Washer
61769 3/4” 1 1/4” Rubber Bump Stop
61692 Limiting Straps
61681 Door Latches

www.4x40k.com




NOTE: Save all OEM parts until installation
is complete!

1. Use a body pry tool to remove the kick
board next to the front seats. (Figure 1)

2. With the kick board removed use a body
pry tool to remove the plastic panel cover
located in underneath the steering wheel and
glove compartment. (Figure 2)

3. With the cover removed you will have
access to the door wiring harness. Unplug all
plugs coming from the door wiring harness
(1-3 plugs depending on truck model).
(Figure 3)

DISASSEMBLY

Figure 1

Figure 3

www.4x40k.com




4. To remove the rear door wiring harness: use
a body pry tool to remove the weather seal
and unplug the harness. (Figure 4)

Figure 4

5. Use a 10mm socket wrench to remove the
bolt in the door limiter. (Figure 5)

Figure 5

6. With assistance, use a 12mm socket wrench
to remove the four (4) bolts (per door) from
the hinges and remove the doors from the
truck. (Figure 6)

Figure 6
9

www.4x40k.com




INSTALLATION

**please note that the door latches are
mounted and installed from the inside of the
door**

7. Use the provided 10-24 Bolts, flat and lock
washers with nuts with a 3/8” socket wrench
and 1/8” allen wrench to loosely install the
front and rear door hinges. When installing
the hinges make sure to note the hinge
orientation: the front door hinge must be in
the lower position while the rear door hinge is
in the upper. (Figure 7-8)

Figure 8 (Rear door latch orientation)

www.4x40k.com




8. Use a 1/2” socket wrench to install the front
and rear logo color plates (22222-22223) with
the 5/16” bolts, flat and lock washers (50231-
HW). (Figure 9-10)

Figure 9

Figure 10

11

www.4x4o0k.com




9. Install the rubber bump stops in the front _— g : —
and rear doors using two (2) 5/16” nuts, # v
two (2) washers and one (1) lock washer
per bumper stop. Loosely install for later
adjustment on the truck. (Figure 11-12)

Figure 11

Figure 12

www.4x4o0k.com




10. With assistance, hold the front door up
to the front hinges and use a 9/16” socket
wrench to install the 3/8” bolts, flat and lock
washers and nuts (50231-HW). (Figure 13)

11. Repeat step 10 to install the rear door.
(Figure 14)

12. Close the doors until the latch engages.
With the doors closed position the latch so
that it does not rub on the striker and use a
3/8” socket wrench with 1/8” allen wrench to
tighten the hinges in place.

Figure 13

Figure 14

13

www.4x40k.com




13. With the doors closed. Adjust the rubber
bump stops until it fully closes the door ajar
sensor located on the door jam. Once in
position use a 1/2” socket wrench to tighten it
in place. (Figure 15)

Figure 15

14. Use the 10mm bolt removed during step 5
to attach the limiting strap bracket to the door
jam. Attach the limiting strap to the door jam
bracket and the door. (Figure 16)

Figure 16

15. Fully tighten all mounting hardware

**Note: Mirrors are not included. You will
need to purchase mirrors seperately and install
onto doors per your preference. This will
require you to follow the instructions included
with the mirrors and may require drilling into
the doors.**

www.4x40k.com






